R3.8 A LL[&

A(NES—ERE) B(ME—&) c(EC A1)

hi I EERR(1ED O|FEAFRGIEME 36/H ht 2 HHEE 5 H
(IB®=Y) | @z |gK=| |O|B#GksMEIN va| | (8er | B e T e e 252 EE | SK=E
EAf#1 573 573 |O|BEAFIMEIO 8/H EfE1 300/ 320 0 620  300| | smz |0 (32,183)
| ENE2] 641 641 |O|FEHBAEREEMEIAQ 16/8| | % |EN#&2| 300 320 0| 6200 300[ | _ g:% 0 (34,547)
;&L 3| 712)  712|  |O|ERIHAEIFEME 12/H ;Q ZE/ri&3| 300 320 0| 620 300 | ;%g 0 (36,980)
P& | Z= g 780 780 |O|ERIHRENNFEME T 20/B| | B |ZENEa 300 320 0| 620 300 | 0% 1o (39,345)
EIriED 847 847 EEMRIEAMEZAME 120/ H EIiES5 300/ 320 0 620/ 300 0 (41,674)
EiE 573 573| |O|fFHEEMEHNESESE 5/H B iE 390 420 370 810 760 48,516 46,966
% | ENiE2 641 641 BERBME 6/El | &£ | ENiE2 390 420 370 810 760 50,891 49,341
é EIriES 712 712 EFWYNEMEI 144/8 680/8 1280/H é ZiES3 390 420 370 810 760 53,371 51,821
B |=rsga| 780 780 |O|BETHRTAUIME 13/8| | B |=ega| 390 4200 370 810 760 55,746| 54,196
1@2 ZiE5| 847 847 |O|HEttXIEME 10/ A Zi&5| 390 420 370 810[ 760 98,085 96,535
@ o [ErE1] 573 51 |O|nmmrEmmy 1no/A| | |Ermr| eso] s a70] 1470 1020 | 68976 55026
& | 3 |ENE2 641 641 BOMBFEMEI - I 500/A| | 3 |ENi&2 650 820 370 1470 1,020 71,351 57,401
%ﬁ ‘Ei;‘: EA &3 712 72| (@B XIEREMNE 300/ A Eki‘: ZiES 650 820 370| 1,470 1,020 73,831| 59,881
gﬁﬁ @ Zig4 780 780|  [%R|RISRN EHOE A FIINE 50/ B D EriEa 650 820 370 1470 1,020 76,206| 62,256
= ENES| 847|847 |O|BAFHEEEENE 400/[a] Ei€5| 650 820  370| 1,470 1,020 18,945 64,595
% s Ef#1 573 573| |O|MERENGEHEMNE I B $108.3/100 a5 ZE1| 1,360 820/ 370 2,180 1,730 90,986 77,036
3 |EniE2 641 641 O|NMEBERTLBNEME] | HLREAMED2.7/100| | 3 |ENE2| 1,360 820 370| 2,180| 1,730 93,361 79,411
‘E::: EAf#3 712 712| (@ |HRa0FY L RBR AR R | 1 E R %00.1/100 Eki‘.: Ef 3| 1,360 820 370 2,180 1,730 95841 81,891
ENiE4 780| 780 KEBEARHIZLKYMERNBTOEENFKELET E4rs€4| 1360/ 820 370/ 2,180 1,730 98,216 84,266
@ EIriES 847 847 2 Z4r#5| 1360/ 820/ 370 2,180| 1,730 | 100,555| 86,605
EAE 573 573 E4r#1| 1450 1200/ 860| 2,650, 2310 | 105556 95016
% | ENiE2 641 641 1TEDOMEEET (OHDH) 81| | & |EN#2| 1450 1200 860 2650 2310 | 107,931| 97,391
Edffk EA &3 712 712 1ADMESET (OHNDH) 503 Ei’i“ E4r#3| 1450 1200 860| 2,650, 2310 | 110,411| 99.871
B | =/ 4 780 780 NEEPES 1 B |Z=qve€4| 1,450 1,200 860| 2,650/ 2,310 112,786 102,246
EA &5 847 847 M1 or 2 or 3 E4r3#5| 1450 1,200 860| 2,650 2,310 | 115,125| 104,585




